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1. The value ofdt+3tis
(i) 6t (ii) 4t (i) 7t (iv) 8t (v) 9t

2. The valueof9m+(—-6m)+(—6m)+(—-2m)is
(i) (=5m) (i) (=3m) (i) (=8m) (iv) (=6m) (v) (=4m)

3. The value of(—9n2) +(—8n2) +9n2 is

(i) (-8n2) (i) (=5n%) (i) (=7n%) (iv) (-9n%) (v) (—11n?)

4. The value of 36% +(=3b%) +(—8b%) +(—=6b%)is

(i) (=14b6%) (i) (=156%) (i) (=16b%) (iv) (=116%) (v) (=13b%)

5. The value of (=8k+6) +(—4k+2)is
(i) (=9k+8) (ii) (—13k+8) (iii) (—12k+8) (iv) (—=15k+8) (v) (—11k+8)

6. The value of (=8 m2+5m+6) +(—9m2+6m—9)is
(i) (=16m2+11m=3) (ii) (=15m%+11m-3) (i) (=18m%2+11m—-3) (iv) (=20m?+11m-3)

V) (=17m?+11m-3)

7. The value of (=9)3-2)2-7) +(=3)° =3 +y)is
() (=2y° =10y =2y2+y-7) (i) (=102 =2y2+y—7) (i) (—=6y°—10y>-2y%+y-7)
(iv) (—4y°=10y3-2)2+y-7) (v) (=3y°=10)3-2)2+y-7)

8. The value of (9m2+3m+1) +(9m*—8m=3) +(=9m° +3m*+5m3) +(6m*+6m3+3m)is
(i) (=10m°+18m*+11m3+9m?2-2m-=2) (i) (=9m°+18m*+11m3+9m?2-2m-2)
(i) (=11m°+18m*+11m3+9m?2-2m-2) (iv) (=6m°>+18m*+11m3+9m?-2m-2)

) (—8m°+18m*+11m3+9m?2-2m-2)

4 3
9. The value of-5p +-4,D is

() >hp (i) 2p (i) op (V) op (v)
20,0 20'0 20,0 22,0 18'0
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1 2 1 1
The value of-W+-—-w+-w+—wis
3 3 5 2

(i) '15W (ii) '19W (iii) '19W (iv) '3W (v) o
5 0 15 i) 5 v) Sw (v

1

1 3
The value of =22 +-22 + =72 is
2 5 2

(i) -17022 (ii) izZ (iii) -222 (iv) 222

1 3 3 1
The value of =24 + - A + A + = A s
3 5 4 2

(0) 4324 (i) 13524 (i) 127Z4 (iv) 13324 ) 13124
20 62 58 60 60

The sum of the terms(—2),8,8n,3n,(—=8n)is
(i) (4n+6) (ii) (3n+8) (iii) (3n+6) (iv) (3n+4) (v) (2n+6)

The sum of the terms v,8uv,6v,2uv,4 is

(i) (Quv+7v+4) (i) (1luv+7v+4) (iii)) (10uv+10v+4) (iv) (10uv+7v+4) (v) (10uv+5v+4)

The sum of the terms9Qpqr,6r,q,7qgr,(—6q) is

(i) (8pgr+7qgr—5q+6r) (ii) (10pgr+7qgr—5qg+6r) (iii) (9pgr+7qr—5q+6r) (iv) (9pgr+4qgr—5q9+6r)

(v) (9pgr+9qgr—5qg+6r)

The sum of the expressions(—=v—-7),(=8v+6),(3v-=3),(=v+9),(-8v-=7)is
(i) (=15v) (ii) (=15v—=2) (iii)) (=15v=5) (iv) (—=14v-2) (v) (—-16v-2)

The sum of the expressions(5/k+5k),(3jk—6),(—k+2),(—-7jk—=7/),(8j—6)is
(i) (Jk+4j+4k—10) (i) (2jk+j+4k—10) (i) (jk—j+4k—10) (iv) (jk+/j+4k—10) (v) (j+4k—10)

The sum of the expressions(3/-5),(3/-8),(-9/-3),(3/-2),(=2/-9)is
(i) (=3j=27) (i) (=/j=27) (i) (=2/-27) (iv) (=2/-30) (v) (-2/-25)

The sum of the expressions(8fg+27f+6g),(3fg+5f-2g),(4fg—9g+1),(10fg+6f+69),(—4fg+6g—3)is
(i) (20fg+13Ff+7g-2) (ii) (22fg+13Ff+7g-2) (iii)) (21fg+13f+7g-2) (iv) (21fg+11f+7g-2)
(v) (21fg+16f+79-2)

The value of (—gh) +6ghis
(i) 8gh (ii) 5gh (iii)) 3gh (iv) 4gh (v) 6gh

The value 0f 9522 +952¢2 + 55212 + 85242 is

(i) 30s2£2 (i) 315262 (i) 34522 (iv) 325282 (v) 2852¢2

The value of 2pgr+5pqris
(i) 4pqgr (i) 7pqr (i) 9pqgr (iv) 8pqr (v) 6pqr
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The value of (9de+2e—-5) +(—4d—-2e—-6)is

(i) (10de—4d-11) (ii) (9de—d-11) (iii) (9de—4d-11) (iv) (8de—4d-11) (v)

The value of (2gh—9hi+8) +(—=49g—-9/—7)is
(i) (2gh—69g—9hi—9/+1) (ii) (2gh—29—-9hi—9/+1) (iii)) (2gh—49g—9hi—9/+1)
(iv) (3gh—49g—-9hi—=9/+1) (v) (gh—49—-9hi—9i+1)

3 1
The value of5cd+ 4cdis

3 19 17 .
(i) -4Cd (ii) -zocd (iii) -18cd (iv) —cd (v) —cd

2 1
The value of-3 wxy + 3 wxy is

(i) 2wxy (i) wxy (i) (=2wxy) (iv) 0 (v) 4dwxy

The value of 8wx —2wx is

(i) 4wx (i) 5Swx (iii) 9wx (iv) 7wx (v) 6wx

The value of (-=8qr) —(—=8qgr) —(=5qr) —(—6qgr)is
(i) 12qgr (ii) ldqgr (iii)) 11qgr (iv) 10gr (v) 9qr

Thevalueof9k2/2m2—(—5k2/2m2)is

(i) 16K22m?2 (i) 12k2Pm? (i) 15k2Pm? (iv) 14K2Pm? (v) 13k m?
The value of (=22 m?2n?) = (=P m?n?) = (=92 m?n?) — (=P m?n?)is

() 122m2n? (i) 82m2n? (i) 6P m?n? (iv) 92m?n? (v) 102 m?n?

The value of (=7 /j+3/—9)) = (=7ij+6/+8) is

(9de—-6d-11)

(i) (3/—13/-8) (ii) (3/—17/-8) (iii) (3/-15/-8) (iv) (4/-15/-8) (v) (2/-15/-8)

The value of (9np+50p+80) —(2nop+4np—4)is

(i) (=3nop+5np+50p+80+4) (ii) (—2nop+2np+50p+8o0+4) (iii)) (—nop+5np+50p+80+4)

(iv) (=2nop+7np+50p+80+4) (v) (=2nop+5np+50p+80+4)

4 4
The value of-5 Kkl — 5k/is

(i) 0 (i) (=2) (i) 2 (iv) (=1) (v) 1
3 1 1 1

The value of = rs ——rs ——rs ——rsis
5 2 2 2

(i) (—'7f5) (i) (—3f5) (iii) (—'11f5) (iv) (—'9f5) (v) (—'9 rs)
i 10 ii A i 10 iv 8 v 10
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35. The value of3k2/2m2 —2Kk22m2is

1 1 1 1 1
(i) —k2Pm?2 (i) —K21Pm? (i) —k?2Pm? (iv) —k?Pm? (v) (——Kk2172m?)
17 15 5 13 15



Assignment Key

1) (iii) 2) (i) 3) (i) 4) (i) 5) (iii) 6) (v)
7) (v) 8) (ii) 9) (i) 10) (v) 11) (ii) 12) (v)
13) (iii) 14) (iv) 15) (iii) 16) (ii) 17) (iv) 18) (iii)
19) (iii) 20) (ii) 21) (ii) 22) (ii) 23) (iii) 24) (iii)
25) (v) 26) (ii) 27) (v) 28) (iii) 29) (iv) 30) (iv)
31) (iii) 32) (v) 33) (i) 34) (v) 35) (ii)
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